
Unitary	Method	

Workout	

Question	1:	(a)	15p	 	 	 (b)	75p	 	 	 (c)	£1.65	

Question	2:	£64	

Question	3:	(a)	40	miles	 	 (b)	320	miles	

Question	4:	£105	

Question	5:	£161.75	

Question	6:	(a)	€1.12	 	 (b)	€246.40	

Question	7:	150g	

Question	8:	

0.8kg	mince	
280g	tomatoes	
2	chillies	
400	kidney	beans	

Question	9:	

600g	cod	
480g	haddock	
720ml	milk	
144g	butter	
48g	Flour	
1.2kg	potatoes	

Apply	

Question	1:	2.5cm	

Question	2:	45.5cm	

Question	3:	720	miles	

Question	4:	The	250ml	is	better	value	for	money.	

345ml	costs	1.39p	per	ml	
250ml	costs	1.34p	per	ml


